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que: &F TS -3TeralIeH_ ( SAUfSdI- ST )
SECTION A : Unseen Reading Comprehension

qUe: g : TR TEH (T - )
SECTION B : Writing Skills

gus: T : HTIIFIATRLOY_ (I H ATHL0)
SECTION C : Applied Grammar

TUe: ¥ . RICERCCEICEEWEICIECEEICED)
SECTION D : Reading Comprehension

g :

Instructions :

()  SIRE] J9799 FER: GUEl: i/
39 J97-U9 # 9R @UE &/

The question paper has four sections.

(i) TP GUSH qHd IV THRET T FHHI G |

Y% @UE & I U & 8 W HH & fo@d g1l

The answers to each section must be written at one place.

(iii) FITGEAT JITTAITARY STTTIHT TG |

o7-U7 & STJAR J97-Q&T 37999 &1 fera grt

Write the question number according to the question paper.

(iv) TI FETAH I GEhaT A@H1emT |
4l J¥l & I Gegpd H felEq

Answer all the questions in Sanskrit.
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W@UE: & (SECTION - A)
STUTSATIT-STFETEH ( TUTSATIT ST )

Unseen Reading Comprehension 15 3Tg:

sifafady eTg=s< Ife@ Jeauer I&hdd 3Wd :
frfafad stz &1 9k U T y94i & I ¥&ha ¥ <IfT -
Read the following passage and answer the given questions in Sanskrit :

ShIY: A HeH ¥ | %g: SM: & AfY fafa, srqwmmmi dfd, S
federaTi &1ft 9 yuifd | TEHE oF h1Y WEYH: WoH | FfS shiY: ANT=s(d a1
AR Ta &9 O gROEE | HAA 79w 9atd | st sy fafea wafd |
39 Tt forfoad qaeh T qSH | hIdTq Helal STeHH T&H |
qoHTt:

(I) THUCT ST | 1x2=2

Teh < § S ifSu |

Answer in one word.

() sRIY AT foh emuftad ?

() e S: Hul feder=m i 7 goifq 2
(IT) YUTerR—A 3T | 2x2=4

qof a1 ¥ IW AT

Answer in a complete sentence.
() TIEE M IF: F: ?
(i) TIHA GOl hige wafq 2
(I11) Yedfashed = 3faay 3w fomn foad - Yox4=2
feu U fashedi # 9 3fa IW g fafan
Choose and write the appropriate answer from the given options :
(%) ‘&5 30 = 9= famivom ?
@ T
) S
(i) IE:
(iv) SIS |

3 P.T.O.



(@) ‘wem’ 3fa foramiee fo dus sl T ?
@ 5
(i) @it
(iii) 3hIe:
(v) I
(M) ‘FEfE #w s TR s e v ?
@ g
i) fraf=
(iif) A T
(v) AT

(%) ey 3t uee foh foreimaey ot Y ?
G fraf=a
() Ha
(i) HIFEMT:
(iv) RM<H
(IV) 3T ST{=85H Fd HYfad vt H&hda forad :

79 TI=08 oh fou Suge e H&pa | fafaw .

Write the appropriate title for this passage in Sanskrit :

52 4
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seNfafed velidh gfgedl ISaIe H¥hdd 39 |
frefafad welieh 1 9 fu T g9 & S ¥&pa ¥ <

Read the following shloka and answer the given questions in Sanskrit.
YTeTeEl: gdfd, Tiefd JseHid,
%0 sa ferafy fa HfTesm

[aSEEE N N

(9% [Hx Hedl ufqmcwg:,

N

Td T 9fid A9 w1

QI
@) THYH I | 1x1=1
Teh ¥ § S SifSu |

Answer in one word.
d qredl: % qdfd ?

(A1) YofameR I | 1x2=2
o I § IR

Answer in a complete sentence.
() HI: HUI Th HAMT 2
(i) Y H G4 T HAUC ?

(I1D) Yedfashed«: 3faaq 3w foen foad 1x2=2
feu U foshedi # 9 3fad W A fafan
Choose and write the appropriate answer from the given options :
(%) velish ‘g’ 3fd yew foh wafaas gy ?
G &=
(1) WS
(i) =T,
(iv) ferf=sm)
(@) ‘wgwn’ =i dew T faeivue veiler gy ?
0 fozq
(i) e
(1i1) hcIH
(iv) = |

5 P.T.O.
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Que: @ (SECTION - B)

TR R TEH (oS ST )
Writing Skills 15 3TST:
o i fafedy 9.9 wesmmueTves: Qen 14: faed : %x10=5

faar =1 fa o fr=fafaa 731 1 wesmn ¥ fqu U vesi &t werd 9 qui o
F:]%ﬂ'\@ﬁz

Complete the following letter, written to your father, with the help of the
words given in the box and rewrite the same :

AlLA-AIAIA:,
-
fafa:
T (id) !
el JUIHT: |
33 FIA T 38 famma var Afauys:: ufawafa a5 wafesd
srafdgrerdaarogfaeyfal 791 i) _ ¥H doH| #isiead
(iv) _ oTeRg guw: om | orfend ¥ anffeicad o8 Areafiey
v |
319 Aiftiehice: AMMH-Yham™X (vi) | foemees var: @ @
(vii) It | 3TRHEM (vii) AAH 3¢ Wl | 68 STevaq
3MTeq | "9 (ix) afosafd | HIqeRoE: 79 JOIET: |
Had: g3,
|
HosTHT

Nes Y

=g, gregfaaifitaETe, f:, g, qewd, Tafcedid:, JYHT,

HiTeATty, fuqHeedn:, TS |




1Y:yed Tors gl Hosurl YSueissHl HREddl Usdl aleRI Heehdd fored @ 2x5=10
= feu Tu fos 1 9o weo # fou U wssl Y Herdl ¥ uie Sehd e

T I -

Describe the following picture in five Sanskrit sentences with the help of the
words given in the box below :

LRl
ST, TRUHH, A&, Fad, T1etch:, Taferon, ey, &, favmed, e,
TR |

379741 (OR)

HeS[uTgGRIsaH wreraA fefafad fawad sifusa usadwhdary THY ST{=s
foraEa -

oo H fou U vesl w1 wewan ¥ frefafed fava w ute gwpd o ¥ T
S=se fafay :

Write a paragraph in five Sanskrit sentences on the following topic with the
help of the words given in the box :

qRAT - Fh:

o™l
3TeIH, ST, SUTSToTH, SSI, HIUEE, T9e: Weacen, STEehare:, Yo,

qRYH |

7 P.T.O.
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Qus: T (SECTION - O)

STTAFTATHRTUTH ( ITTAIHT SHATHIT )
Applied Grammar 30 g

HefeiEqarey Yarfgarey i afu=se of e faud 1x4=4
frfafEa el | W@ifed 95 § af~y s1eEr gfy-fossg e fafay .

Write the underlined words of the following sentences after joining or disjoining
sandhis :

G %3 B + I

(11) W:Wﬂﬁ:?ﬁl+ww?ﬁlzl
(ii) - fAfefed w4 |

(iv) TXETTG BT I, ST |

HefertadersRy YErgauer TAE fouE o yexfasheusd: foen fa@d : 1x5=5
frefafea aml o @ifed <l 1 999 s1gen foaue fou e fasmedi # 9 A
e

Choose and write the correct compounded or expounded forms of the
underlined words in the following sentences :

() FidedH <0 I 9: Tooa|rg: Ao |
()  GfdgdH T=:HTH,
(i) GfdgdeRTor
(i) Hfdgard:h: |
(@) |: II=8 Al @R |
() TS SHIdHH
(i) T=AT Afgan
(i) SoSIY: FHA |
() o= TIE: ufaor = fAawta )
() Tuef
(i) wgafE:
(iil) TeE: TR |
(%) 98 §: IFEC IYAE T |
G e e
() fed we
(i) ree FHTH |




52

(¥) drareR: s8R &far 9 |
() e TR IH 9: |
() HaH TR T
(i) AT SR I |

srgifafaderRy WEfgauemi FHfduerl §asa fawsa a1 3faaq sw fawmeia:
ferean fer@a - 1x5=5
frefafea amRl o Y@iferd 91 & Ipfdgci sl Siight a1 Yo s 3fad W
foeredl # @ g fafa -

Write the underlined words of the following sentences after joining or disjoining

suffixes to the roots or words, selecting the correct answer from the options
given below :

() F78: T + 9 F: g am: ?
(i) ToudH
(i) eI
(i) =SAAdMET: |
(@) T8 &eTesh q99 |
® TH+
i) T + M
(i) e + 3= |
() T& Yo+ A B TEel: 31 |
() HIHE
(i) GerHH
(i) HIHM: |
(%) TR HEw | S |
(@) W8+ TH
di) Wed+9q
(i) HEd + I
(T) T 79 Q3 + 1Y il |
@® T
REL
(i) HHI

9 P.T.O.



o ha

SreifarEqameRy Reaeam Fesumt geu: 3fad: s/ovue: [ faga @ 1x5=5
Fefafea ol o Reaeam &t 9fd FJesn # fqu U 3f9q o=@ W’ & g1

Fill in the blanks in the following sentences with appropriate indeclinable

words given in the box :

D RO THSAM |

() @M TR |

(iii) T Toh Yol STMH_ AT |

(iv) qehR: Thard drerq T ST |
(v) =fd T |

b N
afe:, A, frmelH, A, $4d: |

o

SteaqeEans e ameRm I | 1x5=5

3fad GEATIe AR d1R qUT ShifSTT |

Choose the correct numerical words and complete the sentences.

G ¥ fet syerf= | (5w, fSira:, o)

(i) 3. 9 ik (33, faa:, Ffif)

(iii) o faufage: e (THEm, THiH, THe)

(iv) qem SHuar fawaf< | (Id9:, Iai:, Idii)

v) ___ dhifshed %tz | (5, B, gA)
HfAfadereRy WWifgaueq YsH 31 | Jexfashedsdr: Sfedq 3w T agsus
e fored - 1x6=6
frefafea ael o W@ifead 78 s 81 KU Tu fawed § 9 3fad S gt
3Y[S IS I Hefyd o foafaw -

Choose the correct answer from the given options and correct the underlined
incorrect word in the following sentences :

(F) S & AT T |
() THSE:
(1) AT
(i) TSI
(iv) AT=dMH |

10



(@) 9: dIfcTent shiefd |
@ el
(i) TeTR:
(i) TeTh!
(iv) SIfeTeh |
(1) ™ el e g8l ?
G gIfa
(i) T
(i) s&AfE
(iv) TTIY |
(=) = w9 T etf|
@ fem
Gi) s
Gi) T
Gv) T
(T) 318 441: ey |
G T
Gi)
(i) =Y
(iv) T |
(F) ALK ge WS |i |
G) U3
(i) Y

(iii) IST:

(iv) UBHI

11 P.T.O.
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@Uug: ¥ (SECTION - D)
Ufad-rqarey ( afed-3raarer )

Reading Comprehension 30 31T

sefifafad ey, 9, e 9 gfen YSaueaHH Sauftt ek faed -
frefafed Ty, 79 iR Ty &1 Tgw fu T gl & I §ERd °
fafaw -

Read the following prose, poetry and drama passage and answer the given
questions in Sanskrit :

(31) TR :

"R UE g difeaten: fefseg X sifd | 7o 38 sergpued i
T3 lfgaTan: I 3fd 7=rd | 373 sTeki ot=nf e Terents
aify || erenTeh geAfaum Tentirdi shnfsdd afag-Tueri =1 afswmn
AT A TFARA | TAWl SO TRquT SHereel add | hIAhEE]
gﬁlﬁ_tl?fz "’
qI-:
@) THYed I |

T v § S iU |

Answer in one word.

TRHETS HEl: IS A=A ?
(II) TofeTeRA IR |

quf greRr § I ST

Answer in a complete sentence.

Hul YA TN e Fdd ?

(I11) Yeafashedsd: 3fadq 3w o foed - 1x2=2

feu T foshedl # 9 3fad W g fafan :
Choose and write the correct answer from the given options :
() ‘e’ 3fa wques foh fRamue T gy ?

(@)

(i) dad

(i) T=Id

(iv) ST |

12
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(@) ‘wdu 3fd oMU He: g ?
() HEHA:

() FUSH:

(iil) TISTEIA:

(v) STTTEIA: |

()  TEM:

i

Fostd T ol fereny w8d |
fudis&r foh Ty scgferedchazar i1’

YIHT:

(D) THUed I |

Teh ¥ § S IS |

Answer in one word.

foar e oI faany g=sfa ?
(IT) YofeameR 3T |

qof 91 H W AT

Answer in a complete sentence.
foh o weq s1f& ?
(I1D) eafahed s 3faaq 3w foen faed
fou U faskedi # 9 3fad IW g fafan :

Choose and write the correct answer from the given options :

(%) ‘o=’ 3fq geUE voleh e g ?
G T
(i) qUH
(i) T
(1v) deaH |
(@) ‘7eq’ 3faue e Iew fommom ?
G faar
(i) feremeTH
(i) A
@iv) dY:|

13

1x2=2
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(3) e

Feh: A WYd! FE Al 9 wwafd 7 wrerty af o7 &: e 7 o1q: sweHe
UMY |

qSeY: = 9I9H | 3{EHe FR&fidaeh! afaor =i |

h: ek oA, eTeHe FERTE: | (qd: gfeerfd gefdwmr)

THid:  (FEIEH) TTH T HY: hefdd | 318 Yehid: Td JoATh ST | I3 |l
T\ i | e Ao foRd JuEEeE | 9 TA W el | dre

Fhered 99 g Araaq |

QoA

() THUGT S | 1
T g | S I |
Answer in one word.
fUre w=ifd &: qrerafd ?

(II) TofeTeRA I | 1
qof 91 | W AT

Answer in a complete sentence.
qd: T FHE: AT T 2
(1) eafashedss: 3faay I foen faad - 1x2=2
fau T foeshedi # @ 3fd IW g fafan :
Choose and write the correct answer from the given options :
() ‘oo’ sfa we forereom ?
() THEE () HEEHE (i) TR (v) fUeH|
(@) Y ey’ 3fd uew gaEeld fohy steEaus wgeH ?
G 3T i) dfe Gii) THE: (iv) TdI

N

12. srefafadery i gqfad 96 fasketwar: faan foed . 1x2=2

52

frefafed weAi &1 9qfad we faswedl § 9 I fafau :

Choose and write the correct gist of the following sentences from the given
options :

(F) ‘G AMTEHIST SHATN Fd et T3

() hTeh: BT 9 SMTEH: 9oId |
(i) HTH: Fed ANTEH: Yafd | T T TIEwdl SHUN Fd 3TEI: T |
(iii) HTh: Fed SEAN FHd SRV HM |

14



13.

(@) ‘"reaffods g g6l §9: el o |

() B9 &R fusfd, oo & fyefd)

(i) TOH IHS 9 TUI: J9q: 94Aq |

(i) T S 9 Hed Toh gy foh = et ?
fd faaehqul & Ta 29 9he 9 9S: 3Yd |

Hos[uTd: HHfaauer facn steifafadvergas oad d ¢
oo H 9 FHfud 98 AR Fefafad gt @l % g ! Ul HIT

Complete the prose order of the following two shlokas by choosing the
appropriate words given in the box :

(%) ' St HES: T E: |

q 3q: Fafaam 99 9 o 911"
3T - At aId AW (i) T |
TafaamI (i) T g7 9 9 7 |

(@) "' o7 IR I YT 98 |

qHI: gIeRIISi=redg, Ueg. Arfvyerdfa 11"’

T - IF (1) 37T qTCATEAT §& |
(ii) I g e A SAfyadfa
HosTaT

TR, HT[W, lZIFi??I:, ¥l |

14. {@IEd U&IH Y FLAH0 Fed |
Ygifhd U o YR W GIAHT HifeT |

Frame the questions on the basis of the underlined words.

52

@

Tl AT, STehRTaL: Had |

(i) Y frssmm sTqd ey |
(iii) SETUT: ST TG AT |
(iv) RITOMT Sroe: g o |

V)

ToSel e TEH HUMHTH STTHAT HIHTH 319 |

15

1x4=4

1x5=5
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15.

16.

52

NO e

srefafadqarent seAmhaaR faeq -

o

fefafaa sl &l seshd & TER fafau .

Write the following sentences in their sequential order :

() HHEEH TR ToS=I9TIAHS: HivEd FHAN: ATEH |

(i) W wg: Td: q’ﬁ'{ﬂf: ST |

(ili) Th: IEUE: dTeTeh: 3Tacq-Ha=il fhaef Faof TR FIAT T g9l ?
(iv) ToSeINF: Sedehlal T 7 g |

(v) dt eTetonef amwrR gier |

(vi) I Thferen SRe Fea: =1

(vii) ToSaINTd: RdG: T AR 9 |

(viii) 91 A ShISd: ST gl STacdr -

ot fermef foom @l shiey ?

Eifgduer gagand def foen fagd)
@ifRd T8I o JETMHER 31 A& fafaw |
Choose and write the contextual meanings of the underlined words.
() ‘Ey geq ! S ST yHEe: |
(1) I3: SH:
(i) 3fer
(i) G : |
(@) ‘afenfeade g 95 ¥ 10 wfa: |’
() oe:
() S
(iii) HAT |
() ‘ehErd Hehell HET I
G) wE:
(i) gt
(iii) TEEE: |

16
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